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Multiple Choice Questions

Tick the correct Answer: (30marks)

1. When both the premises are particular affirmative in a categorical syllogism , it commits the

fallacy of
a) Undistributed middle
b) particular premises
c) illicit process
d) equivocation

. If one premise is particular then the conclusion must be
a) Affirmative

b) Universal

c) Particular

d) Negative

. Some laws are good and the Motor Vehicles Act is law, therefore, the Motor Vehicle Act is good.
This is a/an argument.

a) Valid

b) Invalid

c) Enthymeme

d) Sorites

. Either India will win or Australia will win and winners will be the champions is equivalent to
either India will win or Australia will win and either India will win or winners will be the
champions . This is an example of rule of replacement.

a) Commutative laws

b) Associative laws

c) Distributive laws

d) Material Implication

. If the agreement is enforceable by law, it is a contract and if it is based on consent then it is
mutual agreement. Either it is not a contract or it is not mutual agreement, hence, either the
agreement is not enforceable by law or it is not based on consent. This is an example of

a) Rule of modus Ponens

b) Complex Constructive Dilemma

¢) Rule of Hypothetical Argument

d) Complex Destructive Dilemma

. A particular major premise and a negative minor premise will lead to the fallacy of

a) Ilicit middle term
b) Hlicit major term
c) IHicit minor term
d) Negative premise
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7. EAE is an invalid combination in figure of categorical syllogism.
a) 1l
b) 2
c) 3
d) 4

8. The immediate inferences used in indirect reduction are simple conversion and
a) Square of opposition and propositions
b) Inverse
c) Enthymeme
d) Contrary terms

9. The mood FRESISON is directly reduced to
a) FESAPO
b) FERIO
c) FESTINO
d) FELAPTON

10. pvq
~p

b

C.q
Is the symbolic expression of

a) Modus Tollens

b) Modus Ponens

c) Modus Tollendo Ponens
d) Constructive Dilemma

11. The house was built as a present for Mrs. X, who married in 1997, at the cost of Rupees 50,000.
This example commits the fallacy of
a) Equivocation
b) Composition
c) False Cause
d) Amphiboly

12. occur when relevant features of arguments are ignored and the arguments appear to
be valid.
a) Non Formal fallacies
b) Symbolic fallacies
c) Rhetoric
d) Amoral fallacies

13. Beware consumers, if you do not pay the amount the company may shut down. This is an
exampleof fallacy.
a) Argument ad baculum
b) Argument ad hominem
¢) Argument ad populum
d) Composition

14. In a complex dilemma the major premise consists of variables.
a) Two
b) Three
c) Four
d) Five
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15. In the process of rebuttal of a complex constructive dilemma, the of the two
hypothetical propositions in the major premise are transposed with a sign of negation.
a) Consequents
b) Antecedents
c) Minor terms
d) Major terms

16. According to scientific view of cause , the relation between cause and effect is

a) Invariable
b) Relatable
c) Agent
d) Formal

17. According to Copi Irving , and are uses of language.
a) Informative, implicative
b) Expressive and scientific
c) Expressive and technical
d) Informative and expressive

18. The members of the committee are involved in the social welfare activities. Mr.A is a member
of this committee. Therefore, he takes up social welfare activities. This argument commits the
fallacy

a) Equivocation
b) Division

c) Composition

d) Vicious circle

19. According to J.S.Mill , cause consists of and conditions.
a) Necessary and formal
b) Positive and sufficient
c) Negative and material
d) Positive and negative

20. According Peter Singer , the principle of equality implies
a) All life is precious
b) Equal consideration of interests
c) Equality is never free of discrimination
d) Rights of citizens
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TRIST HINT<R

g ygig (g : (30 TT0T)

1. SR Had AU giet gef faum faviy sifkmardt (1) sradie, gl dmaly
a) \%Clll?il II‘R?IIICIEEW

b) forIv sff&Tarsh faum

c) AT T

d) TS TZATHY

2. SR U Uef faem foRiv SiiRdar sia av ey 3.
a)G{%WEﬁ

b) AT

c) fa=ivard

O EIESEIE]

3. Blel IS T dTd.
Motor Vehicle Act 8T T HTICT 3Ts.
. Motor Vehicle Act I H1IGT 38, 8 3 3Te.

4. “TheR YR TS fobar siieferan foider 31ftr fSiep o < siedler”, & faum “yRd fSidd
faT st feraT e ofr URa i fhar Riwom TR sradta mﬁmrszﬁﬂmgq&n%
3 O RER PO SR 3R

a)

b) IgHEY

¢) faarur

d) dRdfd oA

5. “OR TgHd! BIAGH AR BId U dR dl PR 3T OISR ol FHOR TR 3 R ot
SMYSHTUI AT HeHld 38d.” ThaR dl HIR 9 fhar dt smasmudidia S & sl .*. PR
BT A gid ATel fohar ot Traediar e sy,

B o 3aTERUT 316,

a) faumg® fafe

b) SIcTd faurae IugmaTl

¢) Sfardar Sy

d) Siete fagrde IHaTo
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6. SR 1 faem fo=iy arht 3t 3Mfor uef faem ikaarl sfid ok ddb gI¥ e,
a) ATTHLH UG
b) A< e UG

c)&ﬁaq&ru?;
d) ATRrardt gef faam=

7. bad GiaYUHrAT THRITE EAE 3T 318
a)

b) Il

c) Il

d) IV

8. TRI&f BRI A TRes URaa- 0T 3{Tdgid STHIE YN el ST,
a) faem fodty IR

b) fauda faem™

¢) & Tfaym

d) 31U faRiel g

9. FRESISON T UbTRT TT&Td BRI Mg,
a) FESAPO

b) FERIO

¢) FESTINO

d) FELAPTON

10. pVq
~p

..q
g  frgiee 3ffe.

a) Ay fadh

b) faemae fae

c) ( Modus Tollendo Ponens ) TN YhRD

d) faemrgs Iyaroil

11. 9. & &1 Ue SuarrdY, fore &1y 1997 348 3T, Ueh TR Sied Sart fhHd 50,000 38,
g dhaly 3.

a) YD ATHIY

b) THRTHIE

¢) ITIBRUMHTY

d) TS ATHTY

12. SIgT AT [T ® TdTdhs gaigl dval SiTd deg] ddaly gidl.
o e g6

b) Fergifohd dbary

¢) dekfcd QR

d) 31fdt abaiy
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13. “YTgbII TEYH | SR TR YT bal el &R HU- 98 8a.” REAL SRR

14, A IHAOIHASE  IdUC 3l
a)?ﬁ:f
b) diF
c) dIR
d) U

15. SIctd fayreh IHATUI AT Uicaraur Uishdd i raer faerisi RIFIARd HRoATd
Y.

a) 3R Consequent

b) 11?11'11 Antecedent

¢) U&Ua Minor term

d) HI¥Ucq Major Team

16. NP HRUI heud BT HRUT il TaY Kiperei
a) 3fd<Td Invariable
b) HTU& Relative

c) H&Id Agent
d) 3ThTRD Formal

17. 1.Copi IiAT AR U SUINT 3{Tfor 3{Tgd.
a) HIfedl GHIH, TS

b) HIGATHSD

¢) HIa-THS difldd

d) HIfedl G HIa-THD

18. ST Yo THIS ST HIATd A 3HTed. 91d '37 B e 36
> <1 GHIS HelIu] HIaid TeHT 3118, T SHHT 7 ddhaly 378,

a) TG TIATHY

b) THHTHT

¢) JHRTHTH
d) THBTHE

19. J.S. Mill g1 HdaR HRUTHS 3{Tfor 31cT 3.
a) 3{TARI® d difcdh PHIRUI

b) GHRIAD d G HRUI

¢) APRIHD d JUIQIH P RUI

d) P RIHD d ThRIHD 3iC,

7873162B79775C39DDCAB40D2CEE0457




20. Yiex RITR =1 A aR 9HMdd dd oreid
a) YUl S AT 3Te.

b) Tl 3 Has T IRET fadR BT,

¢) THAT HEHTATIRE Halfd Had ATg!.

d) AR B fIHR
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Attempt all questions:

Answer the following questions: (30 Marks)

1. Prove the special rules of figure three of categorical syllogism.
2. Test the validity of the given categorical syllogism .ldentify the
figure.
All human beings are rational.
Some professionals are rational.
Therefore , no professionals are human beings.
What is the meaning of post hoc ergo propter hoc? lllustrate.
Write a note on plurality of causes.
In Oskar Schindler’s case “the means justify the ends”.explain.
Explain any three impediments to good reasoning.
Reduce directly : CAMENES
. Briefly explain the difference between necessary and sufficient
condltlon as per scientific view of cause.
9. Explain the meaning of Respondeat Superior.
10. Construct Complex Dilemma.
“If the war continues, there will inflation and if the prices rise,
economy will be impacted”

© N U AW
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Wrdtd g gidwd 3R foreT: (30 70)

1. Had Ifar=AT foR TR avY fAaH Rig .
2. had HIAYMTE! Feridl R BRI SHTDHR 3.
Id A4 faaredta Ryard .
HTo! ARG AR drd
. Uhs! G HIHd ATl .
3. HIH AN Gl - 71T FgUNS H1T ? 3&Ig 0T 1.
4. HRUT IgTd WY WY DA,

5. Oskar Schindler’s Case THIR " ey AT JHUSH 1 g Hrd" Rig .
R CSACEINGISKIBEIE IR

7. CAMENES d HI&ITd 3ThRIR .

8. AT HRUM didl MaRIH d YR 3T ALt U TP H.

9. Respondeat Superior 3T 31 JHTT,

10. SI¢Td faumae SUATOITE! a1 D,

"SR g T Xfed d) 31 Hdl Tgd, 3107 oR foprdt aredia ar
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